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FRACCIONS: OPERACIONS
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Opera e simplifica o resultado:
2 5 3 8
a) —+— c) —+—
9 18 10 15
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b) 2-— d 1-—

) 3 ) 5

Calcula:
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Calcula e simplifica:
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Resolve:
3 7
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1 2.3 7
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e) £+Z g) i+£
6 8 10 15
f) E_E h) E_E
4 3 8 6
e) E+l g) E—E
5 20 18 6
f 142 hy 2+%
5 8 24
g) £+E+E
4 9 6
n 3.5 7
5 8 20
. 3 5 7
) —+———
8 2 4
n -2+ L
2 10
g) £+i—i
4 10 20
y 5,371
6 4 12 3
. 1 1 1 1
N —+—+—+—
4 9 12 18
3 7 4 1
D —+——-—+—
2 10 5 20
d) Li2-2
5 3
5 2 3 1
e) ———+—-=
8 6 4 3
n 5,1,7.5
9 4 12 6



6) Opera:
a) 2—§+1 C) §—1+E
2 6 5 15
b) £+l+£ d) 3+1+i
5 10 5 4 5 10
7) Calcula:
a) §_P1_§j b) E_P§+£J 0) 1_(
5 (10 2 7 \21 14 4
8) Calcula:
H @ (33
4 (2 8 5 3
» ) o (s
5 10 3 2 5
1 1 1 1 1 5 1 2
) |=+=|-|=—-= f) 4+ ==+ =
2 3) (2 3) 2 6) (4 3
9) Resolve:
) §+1J_(§_zj ) g_zj (2_1
5 4 2 5 10 5 4 5
b) 3_§j_(2_1j e) §_£+Ej+i
3 5 5 6 3) 10
0) 3—3J—(2+§J ) 1+§J—(3—gj
3 5 4 5 3
10) Opera:
1 (4 1] (5 3) (1 1 1)
a) —+|——= |+ ———— c) 1-|=+=-=
4 \5 6 12 10 2 3 4
2 3 3 3 1 1
b) —+|1-—— |+ 1-— — =1 o+
) 23 55) 0 33
11) Opera:
a) 4k e) 302 ) 202 fi)
8 15 6
b) i[S]) f) imﬁ )] EE—F— 0)
3 15 8 7 15
2 8B<.2 4
c) — — m) —[3
) = 9) 58 ) 5 p)
Q) * n 2o’ n o> Q)
35 5 12 15 14
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12) Multiplica:

a) 1 e) 1@4
234 3
b) 26 n 22
35 6 2
C) g931[2 g) 6[—]l
5 4 8
d) 3G41ﬁ h) Eg”:
6 3 35
13) Divide:
a) 1:1 d) EE
2 5 7 2
b) 11 e) 31
5 2 11 5
2 3 1
c) —:— f) 5:=
) 7% ) 5
14) Opera:
11 4 1
a) —:— C) —:=
2 4 3 3
p 1.1 a 2.4
4 2 5 10
15) Resolve:
o 20 _
a) —<5—= b = 0
4 5
4 %
16) Opera:
)
a) 10 _ b) B—A:
5 7
% 72
4 5
‘3
17) Resolve:
% 6.2
5 _ 4°3 _
a) ———= b) =
3 3
34 3,
52 5
%
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18) Opera:

21) Calcula:

2 1)_(1 3)

a) |[=+=|:|=+=
5 3)\2 5

b) 1—%:[1&)
5 5

o (-2
5)(3 2

22) Calcula:
o (3302
2 3 6
23) Resolve:
1 3/(1 1
a) —-——[=-=
3 2[€3 6)
24) Calcula:

b)

3.2 3_(1+2j
2 5 _ 5 2 4 5
5, Vet 9T

*3 e 6 5
5 8
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d) 34(§cij ) (Z;§j:1

7'17% 55) 2
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25) Resolve:

05 e T
3) 2 ) 545 9 1 3
5-4+= — == -
3 4 3 6 3 10
26) Calcula:
o 24235 0 (3314
6 5 6 4 3 5)4 5
b) C. ; 2+£+3 d) 1—E : 1—§
3 2 6 2 3 4
27) Resolve:
23 1 3 3
a) = — .-t C) E Z_3 1_2
5 4 5 20 413 3
0 1{ 2ifa- 7| o Sh(3-2).(4_2
5 10 2 \a 3) (3 2
28) Fai as operacions:
gpl,1 11 ;(g;) (4+;ng
2 6 8
) 5 V13 s ) e
2 8 12 4 9
29) Calcula:
s b3-2d
V15 3 ) 3 9 N 15
e 4:——— e e
5 15 10 2 5 3 \7 32
30) Resolve:
2 4 1
a) — del5 d) — de30 g — de 384
5 5 4
b) §de 12 e) §de 48 h) §de 715
4 4 5
0 2 de21 § 2 de72 ) > de 483
7 3 7
31) Calcula:
3 4 6
a) — de 332 d) — de 375 g — de 1430
4 5 11
b) gde 192 e) ide 153 h) lde 219
3 9 12
c) 3 de 749 ) 2 de 1096 i) 2 de 4215
7 8 15
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